Practical Numeracy – Marking instructions
Assessment is out of a total off 11. RAG guidelines are as follows 
0 to 4  - 0 marks (Red)
5  to 7 – 1 mark (Amber)
8 to 11 – 2 marks (Green)
Please enter 0 , 1 or 2 into pupil tracker as required. 





















1. An electrician was measuring the potential difference across a lamp as she reduced the current. Her results are shown below.
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From the graph4.8V (1)


a. What would the potential difference be at a current of 0A?

3.6 V (1)

b. What was the potential difference at 0.6A?

2.0 V (1)

c. What was the potential difference at 1.4 A?

0.4A (1)

d. What was the current at a potential difference of 4.0V?

[bookmark: _GoBack]1.0 A (1)

e. What was the current at a potential difference of 2.8V?

2. A nuclear engineer was measuring the change in activity over a period of 16 hours. Her results are shown below. 
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3600 Bq  (1)

a. What was the activity at 6 h?

1200Bq (1)

b. What was the activity at 12h?


c. What was the drop in activity from 6 to 12 hours?2400 Bq (1)

1.2 hours (1) 

d. At what tie was the activity 8000Bq?

e. At what time was the activity 1600Bq?7.2 hours (1)


f. How long did it take for the activity to fall from 8000 to 1600 Bq?6 hours (1)
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